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If ((arr.length==0) || (arr contains only NaNs))
returns Infinity.
* Otherwise, returns the minimal value in arr.
*/
public static double min2(double[] arr) {
double m = Double.POSITIVE INFINITY;

*
*
* postcondition:
*
*

for (double x : arr)
[ m=(x<m?zx:m;

return m;

1 Nn2IT
/o(
* precondition:
* 1) arr '= null
* 2) arr.length > 0
* 3) arr contains only numbers (no NaN or tinfinity)
:

* postcondition: Returns the minimal element in arr
*/
public static double minl(double[] arr) {

double m = Doub1e4POSITIVE_INFINITY;

for (double x : arr)

m=(x<m?zx:m;
return m; X7 minl -7 axMj;a DR M
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* precondition: true

*

* postcondition: If ((arr==null) ||” (arr.length==0))

* returns NaN

* Otherwise, if arr contains only NaN - returns Infinity.

* Otherwise, returns the minimal value in arr, ignoring any NaN.
*/
public static double mind (double[] arr) {
if (arr == null || arr.length == 0)
return Double.NaN;

double m = Double.POSITIVE INFINITY;

for (double x : arr)
m=(x<m?x:m;

return m;

(NaN -2 nuw 719'0) 3 xnarT

/*

precondition: arr != null

*

*

* postcondition: If (arr.length=0) returns Infinity.
* Otherwise, if arr contains NaN - returns NaN.

* Otherwise, returns the minimal value in arr.

*/
public static double min3(double[] arr) {
double m = Double.POSITIVE INFINITY;

for (double x : arr) {
if (Double.isNaN(x))
return x;
m=(x<m?zx:m;
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} (NaN =y nirp)

return m;
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import java.util.Arrays;
?MaxSpan nx 1n X7

import il.ac.tau.cs.swl.maxspan.MaxSpan;
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int[] array = null;

int maxSpan;

array = new int[1{1, 2, 1, 1, 3};
maxSpan = MaxSpan.maxSpan (array) ;
if (maxSpan != 4) {

System.out.println (Arrays.toString(array) + " expected: 4, result: "+ maxSpan);
} else {

System.out.println (Arrays.toString(array) + "
}
array = new int[1{1, 4, 2, 1, 1, 4, 1, 4};

correct!") ;

|~~~ naxspan = Maxspan.maxspan (array) ;
if (maxspan != 7) {

System.out.println (Arrays.toString(array) + " expected: 7, result: " + maxSpan)
} else {

System.out.println (Arrays.toString(array) + " correct!");
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public static int maxSpan(int[] array) {
int max = 0;

for (int i = 0; i < array.length; i++)

int j = array.length - 1;
3= L
= array[j]) {

for ( ; 3 >

if (arraylil

break;

}
int span = j - i + 1;
if (max < span) {

max = span;

return max;

Compilation vs. Runtime Errors
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Type mismatch: cannot |
short x = 5; convertfrom intto short
ho =10;

C

Class |MyClass

R

void g() {

int m = 20;
! W
have beeninitialized
} int i;

System.out.println(i) ;—

Syntax error, insert"}" to
complete MethodBody
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array

Returnthe largest
span found
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int span(int, int[]){.

int[] values(int[]){:

Createan Forevery Find the first Findthe last Spar
empty elementin occurrence of occurrence of last - first
output the input uaiie value
array array v

int lastIndexof | [ int firstIndexof
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Compilation vs. Runtime Errors
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public class T {
/** calculate x! **/
publi int factorial(int x) {

or (in 2; i <= x; i++)
£f=£f*3i;

return £;

}

}

Compilation vs. Runtime Errors
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String s = null;
System.out.println(s.length());

NIXNAIT
int a[] = new int[10];
D | = int[20];
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public class Test (
S public static veid main (String
System. out.println(computeFi.
B
« Right click on the desired line

S public static int computeFibElem

= “:,i;: ‘1' B « “Toggle Breakpoint”
int prev = 1:

int prevPrew = 1;
int eurr:
for (int i =

int.
Disable Breakpaint
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v Show Quick Diff Cerkshife+Q
Show Line Numbers
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Ereakpoint Properties.

The Debugger

Some programs may compile correctly, yet not

produce the desirable results
These programs are valid and correct Java

programs, yet not the programs we meant to write!
The debugger can be used to follow the program

step by step and may help detecting bugs in
already compiled program
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£ Java - Test/src/Test. java - Eclipse
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[3) Test.gava £3

public class Test {

¥

= (default package)
Test.java

& RE SystemLibrary [r25] Mo o= O 1=

return 1;
int prev = 1z
int prevbrev = 1;
int curr;

curr = prev + prevbrev:
preverev = prev;
prev = curr;
¥
curr = prev + prevbrev;
return curr;

breakpoint

e public static void main (Sering [] args)(
Systew. out.println{computeFibElement [T1) ;

© public static int computeFibElement(int m) (

for (imt i =2 ; i <m: i+4) {
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public clase Test {
publio static void main (Stri
System. out.printlu(comput

)

public statio int compureFibE
if (n==0 || n==1)
return 1 © Togge Breskgcint
int prev = i et
| int prevPrev = 17 © Teadel
int cure;
for (int i=2; i<n; P 1099 Watdoom

cure = nrey + orevbre W
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Using the Debugger: Video
Tutorial
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